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Q.No: 9 In the below question, cansists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences from among the options.

P. The talks were aimed at enhancing defence co-operation, review joint exercises and training provided to Myanmar Defence Services.

Q. India and Myanmar have in the past co-operated closely on matters of security.
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R. India and Myanmar recently signed a defence co-operation agreement after the two sides held talks on a range of issues.
S. Myanmar's army has joined forces with the Indian army on several occasions to root out anti-India insurgent groups.
SPQR

PRSQ

RPQS

QRSP

S1. So why do people wish others goed luck when they know it will never change the circumstance or the chance?

A. And when you wish your partner good luck in their new business venture, you are showing a sign of support.

Q.No: 10| B. Well, one of the reasons is to show support and to inspire them.

C. When you tell your children good luck in their exams, you are inspiring them to do better.

The passage consists of six sentences. The first sentence (S1) and the final sentence (S6) are fixed. The middle four sentences, labelled as A, B, C and D, are in the jumbled form. Rearrange the following sentences into @ meaningful sequence.

D. Of course, this only happens if you wish someone else good luck from the bottom of your heart and they understand your intention.

56. Sometimes, wishing someone good luck has become so common that people will just say it without having any meaning at all.

ADCB
B DCBA
c DCAB
D BCAD
In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences, and choose the option that provides the correct final order.
P. There were midnight meetings of the sepoys followed by sullen disrespect to their officers.
QRNe: 11 Q. Few of the English saw what it all meant, but everyone felt that some strange secret was abroad in the land.
R. Also, chupatis, or small cakes, were sent from village to village far and wide.
S. Although the mutiny took us by surprise, there were many warnings of the coming storm, and it should have been possible to prevent it.
|A |srPQ
B SPRQ
c SQRP
D | sQPrR

In the question below, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.

P. When tailor, his wife and son reached the house, they found the table ready laid for supper.

Q.No: 12| Q. In spite of all the tailor and his wife could do to help him, he died of suffocation in an instant.

o o0 w >

R. But unluckily, the little boy happened to swallow a large bone.

S. In a very few minutes, all three were sitting before a beautiful fish which the tailor's wife had cooked with her own hands.

| sQre
PRQS
PSRQ
| srQp

|Q.No: 13 ‘ Select the correctly spelt word.

A ‘gylcirene
B glycerine
c glycirine
D glycerience
‘Q o: 14 The denominator of a fraction is 1 less than twice the numerator. If the numerator and
.No: . x . 3 .
‘ denominator are both increased by 1, the fraction becomes 2 Find the fraction
s
A 5
4
K
e 3
| s
2
) 3
\ What is the remainder when largest 8 digit number is divided by 6?
‘Q.No: 15
A |0
I [1
[« |2
D 3

A
B
c

o

‘ Q.No: 16| Two chiords PQ & RS of a circle with centre Ointersectatx. If ¢PXR = 37°, then £POR+ £QOSis:

143°
‘nﬂ
74

‘ 530

Q.No: 17 ‘ The Sum of 4 consecutive odd numbers is 80. Find the least number?

A
B
C
D

|23
|21
|32

17

Q.No: 18 \ The sum of 4 consecutive numbers are 106. The greatest number is:

A

|as
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B |20
c 28
D |25

In the image given below, the sum of area of rectangles 1 and 2 is double the sum of area of rectangles 3 and 4 while it is

half the area of rectangle 5, then what is the total area of the given image (in sqm), where sides of smallest rectangle are

cm and 5 cm. (Given that, Rectangles 1 and 2 are equal, Rectangles 3 and 4 are equal)

1
Q.No: 19
4 s 3
2

A 0.014
B 100
c | 140
D |0.010

AR ¢ wfair B, o 1 9R 2 & At BT GG, ST 3 R 4 F 4B & Gt BT G €, SR M 5 % At B e
2 ¥; @ 4 E oft &1 79 dna (@iiex d) R 2, oieTEeR O o @ yey 2 At o 5 0 21 (we R € B o 1 w2
WA , S 3 T 4 WA §)

0.014

140
0.010

I 0% R qd § MRy gof Y o T B 1 3: T SOl gt T B o wHH|

Q.No: 20 ‘ Two chords AB & CD are produced to meet at P. IFAB = 9 cm, CD = 12 cm & PB = 11 cm, then PC = ?

A 22cm
B 14 cm
c |16 cm
D [10em

Q.No: 21| Y2 —yis polynomial.

A Quadratic

B ‘ None of the given options

c | cubic

D | Linear

Q.No: 22 ‘ My mother I_s twir_:e as old as my _slster ar_]d my fat}ler is 24 years older than me.At the time of my sister's birth I
was 5. My sister is 25 now.What is the difference in the age of my parents ?

A \ 6 years.

B ‘ 3 years.

C 4 years.

D |5 years.

Q.No: 23 ‘ 1£ 0.000270.001/(0.1%0.01 - 0.001 +0.1)=2 * 10%: then find value of k2 + 1.

A -5
B 37
c |26
D -4

Q.No: 24| The zero of the polynomial p(x) = -9x+63 is:

A 7

B -7

c -9

D |o

QNo: 25 If one of the zeroes of cubic polynomial is x3+ ax2+ bx + ¢ is -1, then product of other two zeroes is:
A b-a+1

B |b-a-1

c |a-b+1

D a-b-1

Q.No: 26/ The zero of the polynomial f(x) = 3x+9 is:

A =]
B |3
c -4
D |2
Ja uH
Q.Not 27 ‘ A vessellcuntains 60 IiFres of milk. Every ?iltne 5 litres of milk Is poured in it, after filling 20 bottles of half litre, then how
much milk will be left in the vessel after filling 100 bottles?
A 35 Litres
B | 10 Litres
c | 50 Litres
D |25 Litres

Q.No: 28 ‘ Find the average of factors of 60.

A 14

B |12

[« |30

D |15

Q.No: 29 ‘ The sum of the ages of a father and his son is 45 years. Five years ago, the product of their ages was 34. The

ages of the son and the father are respectively?

Qi AB IR CD @) p X e & g agran o 314 AB = 9 3, €O = 12 970 e pB = 11940, @ pC = 7
229
14 9
16 ¥
10 ¥
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A& 0.0002*0.001/(0.1*0.01 - 0.001 +0.1) =2 * 10% §: T k? = 1 FT A A FIforT
-5
37
26

-4

EUG p(x) = -9x+63 BT AP 7:

uﬁrmagqaxh ax?+ bx+c?}v'ﬁlﬂﬁﬁ(zemes)ﬁ@@—l%,?ﬂmaﬁm(zemes)ﬂw

b-a+1
[b-a-1

a-b+1

a-b-1

| UG F(x) = 3x+9 P LTH B
-3
E
-4
|2
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w0 e H R gy A 3@ S

35 die
10 dieX
50 Wex
25 ¥R

60 % MES] BT 3w T S
14
12
30
15

T e AR TS [ Y o1 F1 A 45 7 §1 Ui oY TR, IS ST FT AT 34 A1) GA SR T B 3Ry A §7
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A |9 and 36
B 6 and 39
c |7 and 38
D |11 and 34
‘ Rishi left for office at 9:30 AM from his home and reach office after 1 hour 15 minutes. His working hours are 9 including
‘ Q.No: 30 IL.lnch time of 1. hour after which !’IE g?es for some shopping. Finally he reaches home after 45 minutes since he left office.
Find the total time he spent outside his home.
A | 735 Minutes
B 660 Minutes
c ‘ 720 Minutes
|o | 690 Minutes
| The first and the last digits of a three-digit number differ by 4. Find the difference of the number and the number formed
| QNo:31 ‘ by reversing its digits.
| |00
B 396
c | 296
D |392

‘ A circular sheet of area 9216x is given. A sector is cut out at 45° angle and a cone is made of it.
‘ Q:No: 32/ Find volume of the cone.

| 576

EELED
6 3R 39
7 3R 38
11 3R 34

B 3T WA gew 9:30 T ik & R Fraper ok 1 92 15 e a1 Siiftes ugan| I9% o & W2 9 § omd 1 R o1 o e
Tt § s a1 7% $o Tiar & R o §1 o § 98 FieT B15A & 45 e 91% W UgTe 81 SES g1 S0 W & W e
T P A T S

735 fre
660 firre
720 firre
690 fr e

;wmaﬁﬁm%mmmmmmmalmmmaﬁﬁmawmmmmw|

92167 ATAH BT UF JedThR e & 76 &1 T FIsds Y 45° HIVT R FTeT AT § 3T
ST U ey AT ST 1 A &1 I A1 Hiore|

A 576 n
\5 ‘ 1728435 1 1728/35
c 17287 n 17287 n
) S67VT 5677 ©
| 4 A mother is three times as old as her daughter. After fifteen years, the mother will be twice as old as her daughter i ot " N 2N & e s e o
Q.No: aa‘atthat time. Hence, the mother’s present age is? wH F 7 oy A7 TR A | e o 3, 58w A 4w I A o A a 19@:  wH sy &
A 45 45
|8 |40 a0
c |38 38
D |aa a4
| T GHEIAATg AABCH. £B =55 § 3R AD #fTawr Qafe aB=aci. @
Q.No: 34| In an isosceles AABC, £B =550 and AD is the median. If AB = AC. then find measure of ZDAC. 5
| | £DACTHT HI T Eadl
A 350 350
|8 450 (450
c 400 400
D ‘ 550 ‘ 550
[ no: 35 ‘ ‘!Ij':'\geit:igits of a two-digit number differ by six. Find the difference of the number and the number formed by reversing its ‘a\ St ) e B ol 1 8 1 sk 31 T Skl ) e 2 ) < AR S T ok 1 AR
54 54
B |66 66
[ |as a8
D |84 84
| QNo: 36 ‘ lgfe;hird multiple of 584 is divided by second multiple of 146 and the resultant obtained is multiplied by itself, then we a2 584 % et U T 146 % R 0T & v R T & ol T o s ) @ o e o7 &, A 81 e v e 37
36 36
B |as 49
c |6a 64
) |25 25
| otiosisz ;\mang 35 crore pnpulati;n ofa countr{/, 25 crore people are fully vaccinated. If 5 million people get vaccines daily, then i ;Z?F A9 B 35 B e A, 25 FA Al o1 qf T F Ao & TH R
[ Q-Ne: how many days will it take to get the remaining population vaccinated? TR 50 T A 1y G wrarg Wl qw s F et wan F B R @i
A |30 days 30 R
B |10 days 10 fam
c |25 days 25 R
D 20 days 20 7

Q.No: 38 ‘ A cube is melted to make a cuboid of dimensions 2 cm * 4 cm * 8 cm. Find the length of edge of cube.

A 4cm
B |6cm
c 8cm
/D ‘Zcm

‘ If O is orthocentre of APQR. then R is orthocentre of which triangle?
| Q.No: 39| PA. QB and RC are altitude on respective sides.

|A |oQa

PQB
c |qor
[} POQ

| Q.No: 40| 1fa=y13 = V12.b=y17 - yT6.and ¢ =19 — V18. then which of the following is true?

A c>b>a
a>b>c
lc |b>c>a

| T A Ry 2 A * 4 00 > g Seft Rl are Te o S S @140, o R ysiel ot ofaré e R
43
| 6l
8 ¥
2%f

| 3 0, APQRFT 7T ok &, T R Prefet w7 oo o 2
‘ PA.QB R RC Haftra o &a W s[=C &1

0QA
PQB
QOR
POQ

Afga=yI3 - VI2.b=y17 - V16. 3R ¢ = V19 - VIB §. @t Feaafaf@a

HY BT TeAE?
c>b>a
a>b>c
b>c>a
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D a>c>b

Q.No: 41| Chaose the incorrect statement.

A There is just one even prime number, rest are odd

B 7 is a rational number

C \ Prime numbers 2 and 5 are the only prime numbers that end with 2and 5
D ‘ The smallest perfect humber in our number system is 6

Q.No: 42 ‘ If sum of diagonal of a rhombus Is L and perimeter is 4P. Find area of rhombus?

A 1@ -p9)

B §(L= +3p%)
c 11 -4p?)
o 12 - 4p?)

Q.No: 43 ‘ Which of the following is an example of the quadratic polynomial?

A | None of the given options
B |8x-16

c 9x? +6x -27

D ‘ 3x+4x3-9

Q.No: 44‘ Zeroes of p(x) = x>- 216 are:

A +6V6

B | £6

c | None of the given options

D ‘ 16V3

Q.No: 45 Mukesh gives 3 pencils free on the purchase of 6 pencils and he also allows a discount of 10% on marked price, but he still
03 manages to earn 20% profit. Find the ratio of cost price and marked price of the pencil.

A 3:5

B |5:a

c |3:4

D 1:2

Q.No: 46 | Find the angle which is 5 times of its supplementary angle.

A 120°
B ‘135"
c 150°
D |155°

Q.No: 47| Find the value of (3ax +2by) - 9ax - 13by.

A |6ax - 11by
B -6ax + 11by
c -6ax - 11by
D | 6ax + 11by

Q.No: 48 sharpener and each eraser respectively.
A 2,3
B |41
c (1,4
D /3,2

In a cyclic quadrilateral ABCD, AB and DC are produced to meet at P. If £ZADC =70 and

QNo: 48] /DAB =607, then find the value of 2PBC + £PCB.

A ‘1200
B \1450
c 1300
D ‘1109

Q.No: 50 { The number of polynomials having zeroes as -3 and 4 is:

A |3
B |2
c More than 3
D [1

Which of the following weight is smallest among the following weights?

Q.No: 51
0.00028 kg, 0.028 g, 5.43 g, 2800 mg
A |2800 mg
B |0.00028 kg
c 0.028 g
D |5.43g

Five sharpeners and six erasers cost Rs. 28. Six sharpeners and five erasers cost Rs. 27. Find the cost (in Rs.) of each

a>c>b

S T T d § MRy gof 9 o I §1 3: T S1uf oot g ) o wH|

SR B HT T4 BT

Faw T AW SIS WS g 3, 2 R @ ¥

7 U g ST g

T BT 2 3R 5 wwar R svrey FEmd § o 2 9k 5 R T gd ¥
T W s wed o qof wen e

‘HI?WWHE%%MWWL%WWAP%IWWWWWWJ
HGED)

§(L:+3P=)

HEEED)

HOEE D)

Pafifad § A # feor agug 1 3eew §7
R e Rt # & o T
8x - 16

9x?% +6x -27

3x+4x3- 9

plx) = x% 216 % TP §:

T 6 TR 1 T W 3 TR 77 F 1 9IR T8 2ifted T W 10% F ge o 3 8, e v o 7@ 209 T oiftfa HA A
o g 21 A, TR & T 3R S 7R 1 oA 1 PR

3:5
[s:4
314

1:2

Tg IV T I S T TR B0 HT 5 T
120°

| (3ax +2by) - 9ax - 13by @ 7 F1@ FATI
|6ax - 11by

|-6ax + 11by

-6ax - 11by

| 6ax + 11by

Uig IR IR T8 39 F FHA 28 T. §1 TF AR AR Ui 93 B FH 27 . ¥ YD WER AR ydF 9 F1 HH: G (3 F) 70

@i
2,3
41
1,4
3,2

‘Wﬁﬁ?@%ﬁ ABCD 2. AB3R DCH PR & a1 & faw diew Smar &1
afg 2aDC=70° 3R ,DAB=60° &. & LPBC ~ LPCB T AT FTA &Yl

1200
11450

1300
1100

-3 3R 4 $ FU & TP T 5961 P ST &
3

2

39 o

Fofifed & § FH-w 1R Pkt w’i § vl ol 82
0.00028 f1, 0,028 71, 5.43 7, 2800 el
2800 fiydfum

0.00028 fFm

0.028 9

5.43 M
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Q.No: 52
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Q.No: 53
A

B
c
D

Q.No: 54

Q.No: 55
A

B
o)
D

Q.No: 56

Q.No: 57
A

o 0 ®

Q.No: 58

A
B
c
D

Q.No: 60
A

o 0o o

Q.No: 61
A
B
[
D

Q.No: 62
A

B
C
D

Q.No: 63

A
B

I % T qd F MRy gof @ o T B1 3 G: STaf gof Y @ o wH M|

Study the given set of numbers X = {2, 3, 4, 5, 7, 16, 20, 25, 10, 11} and choose the correct option.

‘ Total sum of even numbers is 54
Sum of prime numbers less than 15 in the given set is 28
| Mean of the given set of numbers is 11

‘ Largest odd number in the given setis 11

g Mg TEmsht & Wi @1 st HRY Ok e ghw
X =1{2,3,4,5,7, 16, 20, 25, 10, 11}

T Wl w1 A 54 §1

g ¢ g A 15 F T anirea dea 31 4 28 B
R e Wit & WE o1 ok 11 §1

fo ¢ s & W wt fuw wen 11 &1

Tt o WX g A Ry oot B o g 1 o w: amufy ot W & o W

\The sum of 5 consecutive even numbers is 180. find the greatest number?
|32
40
38
| a2

If the mean and variance of the prime numbers between 10 and 20 are m and v respectively, then what is the sum of
digits of (m * v)/2?

12

10
|14
|8

{Three pens and four erasers cost Rs. 18. Four pens and three erasers cost Rs. 17. Find the cost of 14 pens and 14 erasers.
Rs. 70
|Rs. 40
|Rs. 60
|Rs. 50

‘ What is the degree of the polynomial v8?

| 1F (A + Bx)(C - Dx) = (5% + 9)(3x - 3) and A & D are positive integers, then find value of A + B + C + D.
0
|3
6
|2

Nina travels for 20 hours after she left from her home, to reach her destination. She took a connecting flight, which stopped
at an airport in between her journey for 2 hours 13 minutes. Earlier she took a bus ride from her home to airport which
took her 1 hour 17 minutes. Find the amount of time she spent in the airplane.

| 3 hour 30 minutes
‘ 17 hour 45 minutes
16 hours 30 minutes

| 6 hour 45 minutes

Find the mean of number of letters, in every word, in the given sentence.
"Mathematics is the language of Universe and we rely on it"
47/11

|2

|3

|a9/11

5 HHNT G TETSH BT A 180 1 TaQ T AW T B2
32
40
38
a2

R 10 3R 20 & s @ s el B W AR WERO HAN: m AR v §, A (m * v)/2 F 4T @1 e w1 82

12
10
14
8

A9 09 3R IR 39 A Flad 18 T §) IR W R fH (99 B aEd 17 F9 1 14 U 3R 14 399 B FA g T SR
70%.
a0%.
607,
50 %.

‘a@mﬁaﬁmw%?

1
8

o

\aﬁ(A+Bx)(c-Dx)=(sx+9)(3x-3)athahD:ﬁmqvﬂﬁ%,aA+s+c+nmnﬁmvﬁfwﬁl

N & w ©

A 3 R Y P F G 0 T 75 TER F g 20 92 9 ann el B1 T U AR Gerge e B, S I 2 W 13 e A
T 3 AT T g I W IH 1 T U 9% R W Y g of F g o 7t Wk wweht o, R 9 1 v 17 fore wr wm
| e o ], I GR1 ga S H R T g I FR

3 W 30 fime
17 @ 45 fime
16 W 30 fre
6 W 45 fme

R e Ry Ay e F qUT @ WS @ A T B
"Mathematics is the language of Universe and we rely on it"
47/11

2

3

49/11

I Wy T S amufer gof @ o T §1 o U aiuf gt Y @t o wd

ilfA = (3x - 9)/5 and B = (5x + 13)/3 and A/B = 1, then find value of 4x + 25.
2
[o
-1
1

‘ The degree of the polynomial, y* —y? +2 is:

H
[1
|4
|2

\ A polynomial of degree m has:
At most m zeroes

| More than m zeroes

‘ Exactly m zeroes

‘ At least m zeroes

ABCD s arectangle and P, Q are the midpoints of AB and AD and Area of AABC=24em®.
Then findthe Areaof AAPQ ?

‘ 5.6 sq.cm

9 sq.cm

|afe A = (3x - 9)/5 AR B = (5x + 13)/3 AR A/B = 13, A 4x + 25 T A 7 H¥
2
o
|-1
|1

W, v -y 2 EaE:

5
|1
la
|2

W m ¥ g q:

fFTH m TS (zeroes) BT ¥

m ¥ i [P (zeroes) B

&E m TAF (zeroes) BT §

T R TH m A (zeroes) TT §

ABCD U% 3T § ¥R P. Q . AB R AD & HAfIg & TT AABC &7 87306 24 T4
e &1 AT AAPQ T &YA AT S|

5.6 @ &t
o wf &t
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c 8 sq.cm 8 7 qedt

D 6 sq.cm 6 T At

| Ina AABC, APis the angle bisector and ZAPB=110° and ZACB =75, then find theratio of ZABC UH AABC #, AP 10T fa8iTaTdh & 3 £APB =110° HIT 2LACB =75° §. AT AABC & £ABC AT
| Q.No: 64/ and /BAC of the AABC. LBAC%FJ’IW_FI'HEFTWEFTI

A 3:4 3:4

B 1:2 1:2

c |1:3 1:3
o |2:3 2:3

Make a number, whose ones and hundredths place is occupied by multiples of 2, such that

Q.No: 65| they are less than 8 and their sum equals to the number at tens place making the number G TR < <Y, R €T AR Q] B i R 2 3 e @ AR 3 8 X A € et et A G 3 @i R e e ), Rierd g et 500 A @ sl
| greater than 500.

A |572 572

B 462 462

4 682 682

D |792 792

| Q.o 66‘The age of a man is three times the sum of the ages of his two sons. Five years hence, his age will be double of ‘wmgﬂmaﬁaﬁ@ﬁm%mmmw% o a ae, I g ST T 6 o B A ) AR 1 o Y |
|@no: g ?

‘ the sum of the ages of his sons. The father’s present age is?

A | 55 years 55 af

B | 40 years | a0 af

c 45 years 45 af

o | 50 years 50 af

‘ Find the total number of smaller cubes obtained if the volume of a large cube is 1350 cm? I TF T G T HAA 1350 JAP § 3R 5 T bl & FTeT S0l & 0T Tl
‘ Q:No: 67 and itis cut into smaller cubes each of whose side is 1.5 em? T dr ST 1.5 e mmmmﬁwmmm

A 375 375

|8 | 250 250

c 400 200

) |225 225

S 0% T qd § MRy gof 9 S IH §1 o T SH7uf gof T 3 o W

‘ Which statement is true? F-H B T 82

Q.No: 68| I: 5/9 < 7/13 < 11/12 1: 5/9 < 7/13 < 11/12

‘ 11 4/5 > 5/9 > 3/7 11 4/5 > 5/9 > 3/7

A ‘Neither is true | FERTETY

B Only I1 Faw 11

c | Both are true |3 §

o |only 1 Faa1

| Q.No: 69 Iztaaiul'.CDSt of 3 tables and 2 chairs is Rs. 1300 and that of 2 tables and 3 chairs is Rs. 1200. Find the cost of one 3390 9k 2 S &1 1 770 %.1300 TR 2 A R 3 PR 1 H 79 ¥.1200 T T %1 %a 7w TRl
A |Rs. 150 150 %.

/B | rs. 250 250%.

|c |rs. 100 l100%.

o Rs. 200 200%.

I wy W d A smafiy oof ot o g9 31 o O SmufRy el i 9 W e

| The length of two chords AB and AC of a circle are § cm and 6 cm and ZBAC =90°, then theradius U Ged Y &Y ST AB 3T ACH AT 8 WA 3R 6 WA § AR 2BAC=90° B Ted
‘Q-N"’ 70| of circle s | & froar &

A Scm 5 Wit

B \14 cm 14 ¥t
lc [7em 7 ¥t

D 10 cm 10 #nft

Identify the correct statement. W T T B
‘ L. Area of a square and area of an equilateral triangle of same sides are equal. L U @ &1 gae iR THI ei1afl ar TaTg Bt &1 At aRIeR gl €1
.No: 71
‘ QNo 11. When area of a square is divided by its perimeter, then the resultant obtained Is half of the side of the square. 11 w7 Rt &l & e ) e ok 9 & Rsfera e s 8, < e oo g @ e @1 ot g ¥
IIL If the radius of a circleis 1/ units. thenits circumference is 2 units. 1. afe; e geqa Y B 1 56 &, QY s o 2 sag a8

A ‘Only n Faw 1
B |only 1 and Ix Hae 1 3R 11

c Only II and IIT Fas 11 3R 111

D Only 111 Fae 111
| A cylindrical rod has height 210 em. If the rod is cut into two equal cylindrical halves T AATER TS Y FTTS 210 JHT &1 I T3 Y &) TG AFAHR 190 7 FIer

‘ QNO: 72/ 4 one half has volume 330 e, then ___ an is the diameter of rod. (Take w = Z) T & 31 T ST 30 QPR &, A5 T e e 8 (=

|A '8

s
B la 4
c 1 1
D 2 2

L I uH W g A mafy 7o o o gt R 1 o g amay ol Y 5 o wdh
|Qno: 73 If in a triangle PQR, there are two points A and B such that AB || QR. If line AB divides area of the triangle PQR in ratio 1: | af% Ta fvst PQR #, 2 fig A 31k B 8 TSR ¥ 5 AB || QR §1 1R v AB fiywl PQR & 8w @1 1:3 & oo & favifra ot B,
|Q.No:

3, then find ratio QA: PA. @ QA: PA FT I T FHoG!
|a |1:3 1:3
B 1:2 1:2
[+ 1:1 1:1
D 19 1:9
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Q.No: 74

possible.
A 652
B | 857
c 651
D |s76

In the adjoining figure. AB = 26 cm, AO = BO = 15 cm. Find BC, if ABCD is a parallelogram.

P c
Q.No: 75

A )
A ‘ Bmcm
B 14/5em
c 4/Tdem
D ‘ 217 em

QNO: 76| sty years, What was the age of the youngest son five years ago? (in years)
A |10

B |15

c H

D |20

Q.No: 77| 1+ 5xisa polynomial.

A | cubic

B Linear

c | None of the given options

D | Quadratic

Q.No: 78| The difference between a three-digit number and the number formed by reversing its digits is not a multiple of:

A |9

B |99
c 101
D [11

Q.No: 79 ‘ If p(x) is a polynomial of degree one and p(a) = 0, then a is said to be:!

A | constant of p(x)

B ‘ None of the given options
c Zeros of p(x)

D | value of p(x)

In the below image, a regular hexagon is given. Choose the correct option.

3
iv §
Vi
Q.No: 80
v il
NI Vil
A ‘Sum of angles ix and x is 270°
B Sum of angles ii and iii is 180°
c ‘Ang!c X is equal to 90°
b ‘Angle.\‘ v and vii are corresponding angles

Q.No: 81 ‘ AABC and ADAE such that DE || BC. Which one is true?

A AD*BC = AB*DE
B | Ac*BC = AEXDE
c | AD*DE = AB*BC
D | AD*DE = AB*AC

I£4.032 X 0.5625 = a8~ x (a+1)&D X (a+3)##) x (a+5)aD X (a+8)(*9, then find

Q.No: 82| yalue of a2 + 1/,

A ‘8é
B 83

1
c 43
D ‘4-

If two sides of a triangle are 326 cm & 429 cm and the third side is an integer, then find the number of different triangle Uﬁﬁiﬁﬁiﬁa B 326%33’{429%%& 5 ﬁ"j\’ﬂTW o 3, A wif BB ﬁ"jx‘rﬂaﬁ T

652
|857

651
|576

1 arpfa 7, AB = 26 ¥l A = BO = 15 Wit 81 BC T FIRM, AR ABCD T WHFIIR Tqef &1

P c

‘ 8VI W
14/ HHAT
WA
217

A man had three sons and they were born at an interval of five years, The sum of their ages five years from now will be @ o & @ & 3 ok 3 o T & sk R a1 g A1 9@ & T ad a1g I ag @1 4 s g €| o o @ e SR |

‘sngamzﬂ?(aﬁﬁ)
10

15
5

|20

|1+ sx @ Erecd]
|

R

| R g Rreedt A & B A

| R

T A Sl @ T SR 39 St B Iee §  wen & d o1 iR 1 o T R
= R

99

101

1

9% p(x) T UK el 9gUE § SR p(a) = O, T a T A B
‘p(x)mf@m

| e g e & & Y

p(x) &7 [IF

p(x) sTHF

A @ ol A, T wReyS o mar B 1 W Reew o1 9T FR

&
iv §
it

v i

Vil vil

‘mixmxzﬁm’mzmdﬁ
o7 ii 3R i T AT 1800 &
BI0T x, 90° & WA &

T i AT

I W T g F 3y oof o o gt B1 S O Smufy &t T o o W
AABC 3R ADAE 59 &35 & f5 DE || BC ¥1 dlav-ar 6 &7

AD*BC = AB*DE
| Ac*BC = AE*DE
| AD*DE = AB*BC

| AD*DE = AB*AC

AR 4.032 X 0.5625 = a9 x (a+ 1)) x (a+3)8°) X (a+5)5) x (@ +8)*9 & Ara? + 1/a2
T AR A HT]

A rice vendor has three types of rice- Basmati at Rs. 60/Kg, Champa at Rs. 50/Kg and Dubraj at Rs. 40/Kg. If he is giving U Tad [l & Urd 4 YR & Frad- STl 60 w93/ Reaiomm, a1 50 393/ fedom $iR gevTe 40 wud/ e §) aR a5 woe

Q.No: 83
200 off on total purchase?

Rs. 1800 + 5kg Dubraj Free
| Rs. 1000 + 3kg Dubraj Free

Rs. 2000 + 3kg Dubraj Free

o 0 @ »

‘Rs. 1500 + 5kg Dubraj Free

discount of Rs. 50 on champa for every S Kg of purchase and also gives 1 Kg of Dubraj free on buying 15 Kg of Basmati or 5 fireiium 3 @éic W 90T 9190 W 50 F97 $1 Fe &a1 § 3R 15 fpeiomm aremeh wrae a1 10 feseoms <o wmae @i & 1 fseom
10 Kg of Champa, then how much money does a customer pays if he buys 50 Kg of Champa rice and an additional flat Rs.  garer i 1 o &an &, &, af 6w 50 Rrciam <ur wrew @diaan § 3k T Tie W 200 T8 7 i ge e & @ aes 3t

Rt IR T T e g

1800 W + SRAEIM g gH
1000 ¥ + 3fFermm gavs R
2000 FH + 3R gaR qU
1500 TH + 5RAAIH gavs g
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| Q.No: 84| Find number of prime factors of number N = 2516 % 1517 x 1218,
|

A |102
120

[+ |103

o |51

Q.No: 85 ‘ If P = triangle is equilateral and Q = triangle is isosceles, then which one of the following is contrapose of the statement?

A ‘ If a triangle is not equilateral, then it is Isosceles.

B | 1f a triangle is not then it is not

c |1f a triangle is isosceles, then it is equilateral,

D If a triangle is not isosceles, then it is not equilateral.

‘ Three buckets Red, Green and Blue are filled with 20 litres, 30 litres and 50 litres of water respectively. 5 litres of water
| Q.No: 86 | from Blue is added to Red whose 7 litres is already added to Green and Green's 9 litres is added to blue. Find the sum of
quantities of water in buckets Blue and Red in the end.

A |13 itres
8 72 litres
[ | 59 titres
o |94 itres

Q.No: 87‘ If "PQ" is a number where P and Q are its digits and sum of "PQ" and "QP" is 132, then find the sum of P and Q.

A Cannot be determined
B |16
c |14
] 12

Q.No: 88 ‘ Which among the following is a regular polygon with interior angle 135 degree?

A | Nonagon
B Heptagon
C ‘ Hexagon
D Octagon

| Q.No: 89 \ The sum of three consecutive number is 123.The smallest number is?

|A |34
B |32
c |a1
D 40

‘ Which one of the following angles is reflex?

<
Q.No: 90 ‘
| -
|A |8
B |a
c D
D c

| Solve the following equations for x.

Q.No:
| 19(x +y) + 17 = 19(-x + y) - 21
A 1
B |2
-3
D -1

Q.No: 92| How many pairs of x and y satisfy 3x + 6y = 18 and 9x + 18y = 577

A 1
B 3
[« |2
o 0

Q.No: 93 ‘ Sum of lengths of a triangle is 20 cm. If its lengths are integers, then how many such different triangles are possible?
|a |10

B 9
[ 8
D |7

The ratio between the angles of a quadrilateral is 3 : 4 : 6 : 5. Two-thirds the largest angle of this quadrilateral is equal to

| .
| Q:No: 94 ‘ the smaller angle of a parallelogram. What is the value of the larger angle of the parallelogram?

A 100°

B 120°
le |130°
D ‘110"

T

AN = 2516 x 1517 x 1215 & HYTST OS] &1 T 1
|102
120
|103

‘51

Ul p = Rye wreig § 8k Q = Byw wafarg @, A FulifRe § 3 - s @ wved s 87
af v e wwarg w8 R, 9 aw waiarg g

| v Pt g Y 8, o g Ry T e 31

% v By wfas 8, < a5 wwarg B

af 3 P wAfdarg 7 R, A 75 waaEg T A

o et Y8, 1 SR = B 7 AR 20 ¥y, 30 WX 3R 50 SfieR UHA HR1 S €1 5 1 R 5 fex urll Bt ¥ A firemar s @ Rrvr 7
oirex wed g i 1 A ofR i @1 9 eliex g A fiven o e 81 ofr F o ofR Y8 W F urt 1 wwEn w1 vy 1 Rwe

‘13\=ﬁ3¢

727

59 diex

|94 e

af "pQ" T e B, WElP 3R Q T 3P & AUl "PQ" 3R "QP" B ANTH 132 8, A P IR Q T drThal W B
i =3 faam om wear

16

14

12

Frofifed & ¥ $F-1 0 Tragys ¢ S siafke @ 135 fft 82

AR < e 3t A 123 31 T I wen §2
34
|32

40

Frofifaa 3 3 & @ S aied Fo §2
|
<A 8

N

D

|x & R g w

‘19(x+y)+ 17 = 19(-x + y) - 21
1

-2

-3

-1

x 3R y F fa g 3x + 6y = 18 TUT 9x + 18y = 57 T UgE TR 87
1

3
2
o

T Frye i a1 AT 20 39 31 R TR i qufen €, A 09 e ot et e 8
10
9
8
7

@aﬁw%aﬁwaﬂma 146531 U TGYS F TR T2 B0 BT &-RIEE [ TR TGS & Tl B HI0T & RIS §1 GAR
TS & IR § B0 P A e gz

100°
120°
130°
110°

I 7 TR G A Iy g P o gAY @) 3t G- Smafw qof T A o wHh

Q.No: 95 | values of which of the following statements are equal?
1. 1/3 + 2/5-5/9 + 3/S
I1.2/3-7/9-2/9+ 1/3

1. 7/9 + 5/9 - 1/3 - 2/9

Fraforea 3 forg a1 & a9 T 87
1.1/3 +2/5-5/9 +3/5
IL.2/3-7/9-2/9+1/3

1L 7/9 + /9 - 1/3 - 2/9
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‘[v. 6/5 +4/9 - 1/5 - 2/9 1V. 6/5 + 4/9 - 1/5 - 2/9

A 1, I1I and IV 1, 111 3R IV

B Iand I 1 3R 111

c |11, 1and 111 11, 1 3R 111
o |11and 112 1 R I
| Length and breadth of rectangle A are In the ratio 5: 4 respectively and its area is 201 sq.cm more than the area of T A Bt ciars AR HrgrE HE: 5: 4 F orurd A § AR ST A 31 B & A @) ger F 201 av A § 3 o B 4wy
| @No: 96/ o tangle B having sides 7 cm and 17 cm respectively. What is the difference between perimeter of both the rectangles? w7 0t 9IR 17 F 31 T s 3 o § @ SR @2

A 16 cm 16 &ft
B |20 em 20 ¥

[« |18.cm 18 Jft

D 24cm 24 3R

Q.No: 97| If 1abaSb is divisible by 9 and 11 then find value of a - b. a2 1abagb, 9 3R 11 | RAyT &, @ a - b F1 A T PIAT

A 3 3

B -3 -3

c -1 -1
D 1 1

Q.No: 98| If cube root of 6859 Is divided by cube root of 3375, then square root of remainder is equal to __? |3 6859 & T B 3375 & wE Rl e o &, A Joww prafgE & s g @2
|A |a |4
|8 |3 E

c 2 2
) ‘None of the given option ‘f%!mzﬁﬁ'ﬂ'ﬂ‘ﬁﬁéﬂ%’f

‘The sum of the present ages of a girl and her mother is 66 years . Her father is 8 years older than her mother and ‘ TF TH! 3R T AT T T 31 F1 AT 66 T 81 3T O 31y IS A oY 8 4w § 3R T oG

: Q:No: 99 e’ cum of their ages is 96 years, Find the average age of the family ? @141 96 98 81 aRaR &} ofva airg Fan gifti
A | 33 years 6 months | 33 af 6 Wl

B 33 years 4 months 33af 4 7l

c 39 years 4 months 39 af 4 WA

D | 32 years |32af

Q.No: 100 The sum of the ages of A and B is four-thirds the age of C. The age of B is two-thirds the age of C. If the sum of the ages | A 3R B @1 3 &1 4T C & 31 &1 AR-RAETE 81 B & 31y C o 3y &1 31-Rierd 1 fe & oafddl St org ot 4 35 o &, o g Ft

.of the three persons is 35 years, find the age of B. (in years) ST T Y (au] F)
A 18 18 v
B 20 20
c 15 15
D 10 10

I 9% W qd § Moy gof Y o I § ) 3: T S7Uf oot T ) o wHW|

5567435 bullets have been captured by police from the smugglers. If 1203757 bullets are estimated to be still hidden and
Q.No: 101 | 294752 are sent to the country police all over the country for inspection, then the total bullet count excluding the ones 9 A e & § 95567435 Tt e 9 ¥ R 1203757 2 el 3R o 1 o SR R o € SR 294752
it &1 2R B g B Billeror F g Ao o €, o e & R A5 w2 Ak B sleak pa MieEl $ dem SR g 81

| sent for inspection is equal to.

A 97235689 97235689
B 96771192 |96771192
c 96476440 96476440
D 97065944 97065944

Ina circle, PA and PB are tangents while CDis diameter. If PA=x*— 13, PB=x+7 TF ged A, PA 3R PB T Y@ & Saf CD & §1 A PA=x*— 13, PB=x+7
Q.No: 102 | and PC =9 em, then find the length of radius of circle. AR PC=9WA B, A Erocs &Y Froar A1 dars 7 B
A 7em 7 &R
B 5cm ' 5 ¥
c 2.5cm 2.5 %
D 3.5cm 3.5 it
Q.No: 103 | If p(y} is a polynomial of degree one and p(a) = Oien a is said to be.‘ ‘uﬁ p(y) UF UK a1l 95U § 3R p(a) = 0, @ a Fel Il &
A Zeros of p(y) ply) ¥1 [0S
B None of the given options | R g Rt § & Y T
(o} Constant of p(y) ply) ¥1 RRi®
D | Value of p(y) ply) T8

I Uy Y F Sy aof o o gt &1 o T Smufy 7t T 3 o W

Q.No: 104 | Three cubes of side 1cm , 6cm and 8cm are melted to form a new cube. What is diagonal of cube approximately? T 1 8, 6 Fft 3R 8 Anft aral i T Y U T wA & & R R o @ ol e @ 87
A 13.2cm 13.2 9t
B |14.9 em 14.0 T
[o4 l18.5¢m 18.5 ¥t
D 15.6 cm 15.6 it

At t, th tio between the f Al d D kis 4 : 3. After 6 Arun’* ill be 26 . .
Q.No: 105 wnZ;eiieShé a:ergflge:p:kZ: pre;%f§° run and Deepak is er 6 years, Arun’s age will be 26 years A H, 30 AR Eu B 31 & A T AW 4:3 ¥1 6 I TG, SRV Y 31 26 I SNft | o Y adAr F g R

A 15 years. 157§
1
B 193years 19-a%
2 2
C 12 years. 129¢
D 21 years. |21 7

S W% T qd & IMaRT gof @ o TH B 3: T S7Uf gof T I o wHW| |
The present age of Mr Sanyal is 3 times the present age of his son. Six years hence the ratio of their ages will be ahagumaﬁa#qﬁsﬂgmgaaﬁaﬁnmeng@ 3T §1 B% aY 91 SP! 1Y F1 AU 5: 2 T A W Fi 9w 9|
5 w82

Q-No: 106 : 2. What is the present age of Mr Sanyal?

A 60 years. 60 af

B 54 years. 54 qf

[ 50 years, |50 ad

D 48 years. |ag ad |
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o 07 e e e e e o 0 i st c 3, ottt e oo Q0 s o,
Q.No: . Dig pl g place. Digi P © | oo & A F 9w F AT A uw e B qers R BIR F M ¥ ot WHH ) IO F o] 1 U 1 37

What is the product of digits of the number?

A 126 126
B 144 144
c |112 |112
D 162 |162
Q.No: 108 If x2-px - 63 = (x - 9)(x+7) for all p, then find the value of p>+1. a2 x2- px - 63 = (x - 9)(x+7) Wwht p & fg, @ p>+1 %1 7 3@ FfMY
A 8 |8
B 6 6
c 5 5
D 7 |7
Q.No: 109 | The value of f(x) = 6x — 4x2+ 5 when x = -2, is: f(x) = 6x— 4x?+ S DIHAA W x = -2
A -23 -23
B 18 18
c -17 -17
D 26 26

-3 I ial 3 %
QNo: 110 ¥-Y isa polynomial. y-y® T@ ggua el
A None of the given options ‘mmﬁﬁﬁﬁﬁiﬁf?ﬂ
B Cubic wia
c Quadratic | foarrr
D Linear il

) ABis produced to P and AC is produced to Q in a AABC. BE and CE are exterior angle TF AABC #, AB H P e HIX AC &Y Q e JgRI STaT 1 BE 3R CE afgamtor
Q:No: 111/ bisectors. If £BPE = 40° and £QCE =25°. then THGTASIST ¥ 4l ZBPE = 40° ¥ £QCE =250 %, Y
A ABC is a right angle triangle ABC U& RS0 Hiye &
B Angle A Is an acute angle HIT A S
c Such a triangle can't exist T Ryt Hivg T @ wwa
D Cis an obtuse angle CTF e For
Q.No: 112 | Ifx+ 1/x =V53. then find x - Iix. T+ 1x= V53¢ dlx - 1x wid ifsrT)
A -7 -7
B 49 49
[« |3 3
D 7 7
Q.No: 113| The degree of the polynomial, y’ —y* +8 is: dgUG, y' -y +8 Frude:
A 5 5
B 8 8
c 7 7
D 3 3
No: 114 While dividing a number, remainder obtained is 7 less than the divisor and 3 more than the quotient. If the sum of divisor forst s &t frfor @A TR T e, Hisw § 7 9 AR HITRE § 3 3 B
Q.No: and quotient is 34, then find the number. T v SR HITHT BT ATES 34 §, @ 98 GEN I BRI
A 255 255
B 231 231
c 279 279
D 293 293
PQRS is a square, A is the midpoint of PQ and side of square is 18cm. find radius? PQRS U& @1 §, A, PQ 1 Bufiig & iR & a1 o 18 91 81 Fwan 3ra afvrd
P 2 Q P 2 Q

Q.No: 115

8om) A 18cm r

36 36
A 345 345

24
B 2475

30 30
[ 5 A3

18 18
b 243 2443
Q.No: 116 Sum of half of a number and three-fifth of thrice the number is 575. When __ is subtracted from the number, then one- o e F ol IR A ™ # 3/5% =1 T 575 YN _ wmem %’ A we 31 TE e 80 B 2

third of the number is 80.
A 10 10
B 20 20
c 25 25
D 15 15
[If th f the quadratic polynomial ay?+ b I, then: 2 :

Q.No: 117 | If the zeroes of the quadratic polynomial ay*+ by + c, ¢ # 0 are equal, then: Hﬁmmay +by+c,c# 03?2]313? (zeroes) I &, an:
A ¢ and b have same signs ciRbFTHAREE
B c and b have opposite signs c iR b ¥ Redia R &
c c and a have same signs ciRaFbaaafRE
D c and a have opposite signs c 3R a & Rwda s ¥
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There are many points on the circumference of a circle such that distance between each consecutive point is 2.1435 cm & g4 B IR W 3 g 78 7oK § B ude wanmd g S de g8 2.1435 39 R 3R 0o fig @ o g R & Rig Ren

Q:No: 118 14 time taken to move from one point to next is 22.5 min. find the number of points on circle. W 22.5 e 81 9 W igal 3 W T Sl
A 1260 1260

B 896 896

c 1040 1040

b 960 9260

Q.No: 119| The value of p(y) =2 +y + 2y wheny =0 is: y=0Wp(y)=2+y+2y* BIHA 2
A 4 4

B 1 1

c 2 2

D ) o

Q.No: 120 :::cz;ct::-,the diameter is 26 cm and the length of a chord is 24 cm. What is the perpendicular distance of the chord from ‘Wﬁﬁ. T 26 3.7 oR T e # $ 242031 ¥z 3 har R 987

A 4cm 43R

B 3cm 33

c |8em R R

D 5cm 5 daft

In a APQR. three points A,B and C are such that A lies on PQ. B Lies on QR and C @ APQRA. I fag A B3R 59 e W & T fig A PQW 8. g B.QR W

Q:No: 121 fies on PR. AQ =BQ and BR =CR. If 2APC= 60, find LABC ¥ 3R Rig C. PR #AQ=BQ IR BR=CRY|AfF aPC=60° ¥, AN LABC 7 T2
A 450 450

B 60° 600

c 90° 90°

D 300 300

e o+ilg SgUG y3+ ay? + by + ¢ I D! (zeroes) H A TH -1 T, Al 379 T LD (zeroes)

Q.No: 122/ If one of the zeroes of cubic polynomial is y3+ay?+ by + ¢ is -1, then product of other two zeroes is:

B OAGA 3:
A b-a-1 b-a-1
B a-b+2 a-b+2
4 b-a+1 b-a+1
D a-b-2 a-b-2
Q.No: 123 | ABCDEF is a regular hexagon. O is a point where all diagonals meet. Find ratio of area of AOCB to area of ADEF. ‘ABCDEFWWW?I 0 9% fiig & v Wi fof frerd €1 AOCB ¥ dAwd 3R ADEF & 8wl T SuTa 1 ST
A 23 2:3
B 1:3 1:3
[« 1:2 ‘1: 2
D 1:1 [ETEY
Q.No: 124 | The sum of a two-digit number and its reverse is k times the sum of its digits. Find the value of k. ‘Q’ﬁa ST I T R I R 1 9 IEF ST F G B k T S 81 k P I
A ° lo
B 10 10
c 3 3
D 11 11

Q.No: 125 A cube of metal weighs 300 kgs whose side is 3cm. Find the length of each edge of a cube of same metal which weighs ‘300 R ¥ WR At 1 U@ ) 4 3 A0 31 153.6 ¥R AR THH m%w%mﬁﬁﬁﬁmmml

153.6 kg.
A 2.7 cm 2.7 &f
B 2.4 cm 2.4 3t
[ 9cm ‘ 9
D 3.6 cm \ 3.6 @ff
No: 126 A sack contains 120 kg of rice. Some quantity of rice from the sack is transferred to a bag by means of a 250 grams T 9N A 120 5 9r9d §) A S 99 @) $ W S 250 TH FSR S Wegw J w391 F wirAtaRa R o g, @i a8 3 Saa
Q.No: container so that only 80 kg rice is remained in the sack. How many times the container is used to transfer the rice? 80 el 9w X5 Y1 TTad ) AR S & 1Y SR P1 fba=t aR STaN faar St 87
A 160 160
B 300 | 300
c 80 80
D |as0 |as0
PQRS s a parallelogram and His a point inside parallel whichis notintersection point of PQRST Wﬁ%ﬁgml{\ > *mmﬁgﬁsﬂ I m
Q.No: 127 diagonal. Areaof APHQ =14 cm® AQHR =17 cm* and Area of ASHR =21 cm?, find area of TET 1 APHQ FT 8770l =14 T 7T AQHR FT &7Aher =17 al 4ot TAT ASHR T 877t
aElis =7 =21 @A & AT PO o APHS 1 YT =2
A 18 18
B 24 24
c 12 12
D 13 13
I U TGS F 3R oo S o B4 3: O Sy ok 7 o oW
Q.No: 128| The degree of the polynomial, y® — 2y? + 9y is: UG, y8 - 2y% + Oy DI uae:
A 5 5
B 2 2
c 7 7
D 8 8
Q.No: 129 | What is the zeros of the polynomial p(x)=ax+2b? | TEW& p(x)=ax+2b FN XF T {2
A 2b/a |2b/a
B -2a -2a
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Q.No: 130
A

B
[o}
D

Q.No: 131

o N o »

Q.No: 132

o 0 ® >

Q.No: 133
A

B
c
D
Q.No: 134

A

B

Q.No: 135
A

Q.No: 136
A

B
(o}
D

Q.No: 137

O 0 o >

Q.No: 138

o 0w >

Q.No: 139
A

B
(o}
D

Q.No: 140

-2b/a

The sum of 4 consecutive multiples of 6 is 324. What is the smallest number?
72
78
66
84

The cost of two dosas and three idlis is Rs. 46. The cost of a dosa and two idlis is Rs. 26. Find the cost of four dosas and
four idlis.

Rs. 70
Rs. 60
Rs. 100
Rs. 80

The sum digits of a three-digit number is 13. Tens digit is one less than the hundreds digit. The sum of tens and hundreds
digits is 3 less than the unit digit. What is the product of digits of the number?

35
72
56
a8

Chaose the expression that gives an even value on solving.
45+5+8+(3 X 4+2) 42446

60+5-7+(3 X 6+2) +24+7

20+5+7-(3 x 6+2) +24-6

20+5+8-(3 x 4+2) +24-7

Which of the following statement is not correct regarding Jean Piaget’s theory?

He attempted to document the stages of cognitive development by observing the memory processes of
children.

He believes that learning is caused by the blend of two pr and

Piaget studied children through to their adolescence age in an effort to determine how they developed logical
thinking.

He believed that cognitive growth occurred in stages.

Which of the following measures is NOT advisable to deal with juvenile delinquency?

Labelling a young person as "deviant™,

or “pr shall help in pr

Official intervention to be pursued primarily in the overall interest of the young person.

There should be the consideration that youthful behaviour or conduct that does not conform to overall social
norms and values is often part of the maturation and growth process.

In-depth analyses of the problem leading to delinquencies and inventories of programmes, services, facilities
and resources available to sort the same.

-2b
-2b/a

|6 % 4 vImTT UK W AR 324 §1 A, WA B Wm0 82
72
|78
|66
|84

A I IR i T2 F PG 46 7. ¥) T S IR ) TSl B Fiwa 26 7. ¥1 TR S IR TR T8 T 7 I I

70%.

|s0%.

|100%.
8073,

F sft B <Em P AT S 13 §1 ST HT 3 T ot F O B T TE R W il 1 W T o F 3 1 W &
3P BT UFGS e 87

35
|72
|56

a8

T4 S W G AR & AR T BT 99 B
45+5+8+(3 x 4+2) +24+46
60+5-74+(3 X 6+2) +24+7
20+5+7-(3 x 6+2) +24-6

2|

+8-(3 X 4+2) +24-7

i forar 3 R & aw & Frafif@a & 3 o w oo ad 8 82

IE T B i wirmelt B ey e e & ol o1 qrasieRe TR 3 vy

et H § fo6 wftere &Y wibanall & R F o g 3: ST ol o

S % oot feinreea oo el @ arera ag Fruffia w3 war | R 6 s @ifée e $) Reka 9
DT A AT R ST [T ot & gar 81

| e ey & e 2 o P @ 1 0 o af T @7
TS a1 e B Ripa”, "smd ar gd smRish F w9 ¥ daa w1 A SRy Fi A4 F weg frenth

@ FY & gar wfE & wwy fia ¥ snfueife swdy fea s afke)

3 & W AR fean 9 ity 6 gar sraer a1 =R St §ud Qi At R gei & ey T8 8, R uiumr R
R vt 1 e g 21

SORY P ARG U aTeh THET AR IR g4 I F A Sucre wrdswa), Faral, Rl iR wEreHY o1 T sera Sl
|

I Wy T qd § My gof @ o T B1 ora: O ool gl N < o wa

Which of the following is not an important influence of behavioral approach of motivation?
Beliefs

Rewards

Reinforcers

Punishment

Who among the following emphasised on Integrated education, focus on the soul and recognition of divine spirit in the
human being and inspired many schools to provide an alternative system of education?

Jean Jacques Rousseau
Rabindra Nath Tagore
Sri Aurobindo

John Dewey

Match and choose:

Coulmn 1 Column 2
i. perception A. using the knowledge and skills to deal with the environment more
effectively

ii. memory
iii. concepts

B. process of giving meaning to sensory experiences

C. leam to perceive differences in things they see, smell, taste, touch
or hear.

D. ability to remember

E. tools of thinking (abstraction of a concrete object or idea)

F. large number of mental abilities

iv. problem solving
v. intelligence
vi. leaming

i~F, ii-E, ili-D, iv-C, v-B, Vi-A
I-C, ii-B, [ii-F, iv-E, v-A, vi-D
i-B, ii-D, iii-E, iv-A, v-F, vi-C

i-A, ii-D, iii~E, iv-F, v-B, vi-C

Name of fluid in which the foetus (prenatal child) resides during pregnancy.
Lymph

Amniotic fluid

Blood

Glucose

According to Piaget Children make a difference between goal and means in which of the following sub-stages of the first
stage of Cognitive development?

Early Representational Thought

Frafafem & I B sfidRon Zaee eRE &1 T Reagy v T 82
YR

| wfewa

| e

|7

fFrofead & 9 fras Teipa fan R SR R, e w wF HR[ 7 R wge # oy omen 3 05e a3 3R 3wl 3 e @
T s yoreh e F ¥ frg i R

S - o T
| Rz BT
oft aRfY
| st fdt
fore Y ol T:
w1 FIAA 2
[Ercciacd a). TR & A HRE DA T ¥ By F B/
e AT FhE F FTEhT Far
nafr b). T gt Ay zmEa A wfvw

W.HETIAT { IEUROT dINTAETRERE A ETFWED
T ¥ 3T R w d)

d}. T TGN A A

e). R & www (S awg @ Raw)

). 7T et A ow @ Fem

TR Y FERAT [ A 7 FANA

v
i / fiver

I-F, ii-E, ii-D, iv-C, v-B, vi-A

i-C, ii-B, iii-F, iv-E, v-A, vi-D

i-B, ii-D,

E, iv-A, v-F, vi-C

i-A, ii-D, iii-E, iv-F, v-B, vi-C

| meiferen & amere oy s wand A e § 99 @ w8
e

I T

sl

s

o ¥ SiTeR T REs R & gy WO & Fafe@d § S 5w Su-ww d asr ok WA $ i o w82
Ry sl far

Page- 16



Q.No: 141
A

B
C
D

Q.No: 142
A

B
C
D

Q.No: 143

o N0 o >

Q.No: 144
A

B
C
D

Q.No: 145
A

B
C
D

Q.No: 146

o0 o

Q.No: 147
A

B
(o}
D

Q.No: 148

o 0w

Q.No: 149
A

B
C
D

Q.No: 150

o 0 o >

Secondary Circular Reaction
Coordination of Reactions

Primary Circular Reaction

Effect of Peer group is least on which of the following during adolescence?
Choice of hairstyle

Kind of education

Preference of music

Choice of cloths

Child psychology is:

None of the given options

Qualitative study of children’s behavior
Quantitative study of children’s behavior

Qualitative and quantitative study of children’s behavior

Which of the following is a criticism of Group factor theory?

L Thurston's statement that all primary mental abilities are Independent of each other has been criticized.

11. Thurston rejected the ideas of g factor, but his primary mental ability or common mental factor is same as g factor in

Spearman's theory.

II1. Thurston's theory has been criticized for limiting intelligence in seven primary mental abilities.
Which of the above is/are true?

Only I and IT

Only IT and 11T

only I

ANl L IT and IIT

Which of the following stars is closest to earth?
Proxima Centauri

Sirius

Epsilen Eridani

Barnard's Star

Etienne Glichitch Award is associated with which sport?
Hockey

Cricket

Badminton

Football

In which area of Madhya Pradesh is the Satmarhi Temple situated?
Badoh
Harad
Bakeli

Majholi

When was Atal Bihari Vajpayee was born?
12th November 1920

22th December 1923

16th August 1922

25th December 1924

How many smaller pieces are cbtained by making four parallel cuts on a cube?
6

3
5
4

W is the sister of A's father. A is the son of P. Bu’t P is not the mother of A. How W is related to P?
Brother

Sister

Daughter

Wife

Find the related word from the given alternatives.

Year : Month
Engineer : Vehicle
Student : Exam
Clock : Time

Turtle : Shell
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